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Cwbmienie-to ocraa cxme-to 1o 30 mapst Okx-Tx, A
karo paspbanms 21 na 3, n 24 ma 2, me usabse, Kakso 3a
cherasaenie evbes 45 no 30 mapm, Tph6Ba aa Bsemem®n 1o T
OKBI KHTO OTH 110 24, 26, 28 mapst 0OKX-TX, H 10 12 0KbBI 3KH-
T0 0Th 10 32 H 35 MaApHl OKX-TX.

Hoslpka: T oksr mo 24 mapsr nmpasare 168 nmaps:
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45 oxer mpaBaTh . . . . . . 1350 napw.
Ako 6% uu 6B120 MOTPBGHO A4 HMAMBI ITAKB OTH TRLN
embes ne 45 oxsr, a camo 30 oket 1o 30 mapsi, cakposareano,
3a 900 nmaper wan 227/, rponIA, TO BEYh 10 CHAPYHECTBEHHO
npaBaaA0 TphOBa A2 cA TPHCH, MO KOAKO OKbt TphOBa pa ca
B3€MATh OTH BCHYKBL IIATH BHAAQ FKHTO 32 AQ CH ChCTABAThL THIA
30 oker.  45:30= T:x, 2=/, oks =4%/ oxm
€5 B0==12W% 2 Weple=8.11 i
T. €. 0Th TPH-TEXH 1PHBHI KauyecTBa TphOBa pa €A B3eMATH 10
4%/, okmi, a orn aBa-ta mocakpun mo 8 oker. M maucTHHA:
/. OKBI 110 24 mapwr . Y AT . caapsm
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BeH4ko 30 okbt mpasars . . . . . Y00 napsL
Taka u TphGsame pa 6xape.
Aa phrmvt o1 Toa cayusit wbkoako npumbper 6o apy-

10-f4e,

Hpuvbps., Bunaps wma vemvipe kauecwmsa 6uino: 1o
10'/,, 11'/,, 13'/, u 14°/ wpowsn eegpo-mo. Toit ucka
oy wwta euna ja naapasw 2000 segpa cnbics, nu KoiF-wwo
oka-ma Aa cupysa 12 epows; 0ms Koe KaUecurso no KOJKo
orvl wpbosea ga e3eme 3a 66 cubuenie-uwo, ma ja newsiyiou’
10°/, vp. | °/,vp. meanaa na 1 Beapo a na’/, Beap. newnaa =1 rp.
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